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KURS
ROWNANIA ROZNICZKOWE

Lekcja 7
Transformata Laplace’a

ROZWIAZANIE ZADANIA DOMOWEGO
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Czedé 1: TEST

Pytanie 1:
Pytanie 2:
Pytanie 3:
Pytanie 4:
Pytanie 5:
Pytanie 6:
Pytanie 7:
Pytanie 8:
Pytanie 9:
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Czesc¢ 2: ZADANIA

Zad. 1
5
LRSI
2
°) I:(S)=_32+4
Zad. 2

a) y =%(e4X (3x-1)+e")
b) y=e*(-x+e*-1)

Q) y= 3—16e‘3X (e (6x—1)+1)

Zad. 3

a) yzéex(2x3—9x2—6x+18)—3

b) yz—%ex(2x2—6x+ezx—1)

Q) y= Lo (e“X (8x* +4x-15)+64e™ —49)

64

d) y= @e-x (e“ (72x* ~12x—365) + 4064¢" —3699)
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Zad. 4

a) y(x) = 8e“(27e x+e% (156x—14) +14)

b) y _ L oo (45x° —45x* +84x—28)+28)

162 e (

1y
c) y:i(14exx+7e‘X —14e* +[7e? sin(\fx}dez cos(\ﬁxn

1, 1,
d) y:é[ZSexx+35e‘X —28e* +114/7¢? sin(@)—?ez COS{?]J

Zad. 5

a) y(t)=%(8e“—30t—sin 2t +4cos’ t +28)
b) y=%(t2—4t—e‘t+sint+cost+2)

c) y=—t’+t+e" —sint—cost+1

d) y= 10(1Ot2 50t —e* —32sint+16cost +65)
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